Exercise:-

1) SFdla feeredT ATigdiasd x 91 Fhad rar.
2) O BT aqem T gfag ae. CD = 16, AB = 16, OB = 10 ¥ & OF =T &ie FTer.
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3) WA AFATATA ARl ATAT T STAT 3l X ZAT FHIVICAT (AT ATST B aqs THAGAT
grata?




4) g ®-
T FRUMTAT AGBTAT HEATAGAT SISV TUTEE aq@ AT Sadragent Thed
I AT FLal.
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5) F Uehehal aqaidr LT 1 gF A, C, D afor B fega =&, a% ar@ar #it, AC = DB,

o



6) O Fg TEAAT ABTAT I S(1aT AB 30T AC TH&ET d. T< & HLT i, aqarT
Fafag 8T LBAC AT HIAGATSIHRTAT 312,

7) AT IrETAATIHTOr O Fxfag TeeedT aqerdt =sar 10 FHT g, OP L AB, OQ L
OD, AB || CD, AB = 12 &#t, CD = 16 &t a7 PQ =t =iet [Hfara .




8) 10 T T 17 HHT BSA=AT I | TLEIL a1, AT=AT ATHTSS Sta= Afal 16 FHT

I TT IT=AT FETA T SFqT FIaT.
9) 10 &HT T 8 HHT BT T A TLEIX Ladld, ATAT AHTEE Sa=l el 12 JHT

AT T ATHAT FgTd T Sq< FIET.

10) ST ATBTAT ATH AGBTAT I STTATAT TARTT TEHA TL G FHLT #hf, AT I (AT GHa
2.




